# Construction division. Advice for giving credit to contractors/suppliers.

	o. – site bills	1290	7			- site b	ills	06/08/2022				
regist	pany Name:				Regis	ter		1.00				
	e of Contractor	MPL			SILC.			MAY				
		V. Anand										
	re of work	Carrentes work										
	c done	From Da	te	25/00	o Date	os/07/2022						
Sl. No.	Villa/Flat/block no	O. Qty.		Rate	,	Units	Amou	ınt	Contractors bill no			
(1)	B-202,203,205,											
2.	1003,1004.6											
3.	C-201,203,204,	303;										
4.	1006 flets Dow	V										
5.	Lining wale	69	7.UD	163	75 O	Nds	25	875.00				
(1)	Dow Beading	7										
7.	With Cylindrica											
8.	locks /	69.	00	60	· DD	NUS	4,1	140-00				
9.												
10.			2									
11.		Total:			GST bill required			015-00/-				
Bill	required	<b>∠</b> YES							⊔ YES ⊌NO.			
	surement &	Requi			1	suremen		Enclosed				
	nate sheet:	□ Not re	equired			nate sheward		□ Not enclosed				
	WO no.				FO/	w O date						
Rem	narks :											
App	roved by Project M	lanager	Appr	oved t	y Des	ign Tea	m Ap	proved by	y M.D.			
Date	11111		Date	:	-		Da	ite:				
Sign			Sign	:			Si	gn:				

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

### Bill for Labour charges

### V.Anand, H.No.4-20/2, BNR Colony, Cherlapally, Hyderabad.

Date: 06-08-2022

In favor of:

MPL

Project / Site:

**MFP** 

Location:

82/1. Mallapur

Type of Work: Towards:

Carpenter Work.
Allowance for Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards Door fixing with	
	beading forB-202,203,205,1003,1004 & C-201,203,204,303,1006	Rs.
	flats purpose.	12,006.00/-
	Total amount = Rs. $30,015.00/$ -	
	Work done from date 25-06-2022 to 05-07-2022	

Amount in words: Twelve Thousand and Six Rupees Only.

### **Bill for Consumables**

## V.Anand, H.No.4-20/2, BNR Colony, Cherlapally, Hyderabad.

Date: 06-08-2022

In favor of:

MPL

Project / Site:

MFP

Location:

Type of Work:

82/1. Mallapur Carpenter Work.

Towards:

Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done: Towards Door fixing with beading forB-202,203,205,1003,1004 & C-201,203,204,303,1006 flats purpose.  Total amount = Rs. 30,015.00/- Work done from date 25-06-2022 to 05-07-2022	Rs. 6,003.00/-

Amount in words: Six Thousand and Three Rupees Only.

Sign:	
-------	--

### **Bill for Equipment Allowance**

V.Anand, H.No.4-20/2, BNR Colony, Cherlapally, Hyderabad.

Date: 06-08-2022

In favor of:

MPL

Project / Site:

MFP

Location:
Type of Work:

82/1. Mallapur Carpenter Work.

Towards:

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Towards Door fixing with	
	beading forB-202,203,205,1003,1004 & C-201,203,204,303,1006	Rs.
	flats purpose.	12,006.00/-
	Total amount = Rs. $30,015.00/$ -	12,000.00/-
	Work done from date 25-06-2022 to 05-07-2022	

Amount in words: Twelve Thousand and Six Rupees Only.

Sign:	
-------	--

# Door fixing with beeding for flats B&C.xlsx

					Amount in words: Thirty Thousad and Fifteen rupees only	Amount in words: Th
30,015.00					Total Amount	
4,350.00						
	600.00	60.00	nos	10.00	Other Door Beeding fixing	2140 sft flats
	3,750.00	375.00	nos	10.00	Door fixing for other door with cylindrical lock	7   Door Fixing - B-202
10,440.00						
	1,440.00	60.00	nos	24.00	Other Door Beeding fixing	
	9,000.00	375.00	nos	24.00	Door fixing for other door with cylindrical lock	1500 sft flats
					3,204,303	3 Door Fixing -C-201,203,204,303
15,225.00						
	2,100.00	60.00	nos	35.00	Other Door Beeding fixing	
	13,125.00	375.00	nos	35.00	Door fixing for other door with cylindrical lock	1800 sft flats
					5,1002,1004,C-1006	1 Door Fixing -B-203,205,1002,1004,C-1006
			06.	)3,204,303,10	Door fixing with beeding for flats B-202,203,205,1003,1004 & C-201,203,204,303,1006.	Door fixing with beec
Item Head Total	Amount	Rate	Units	Quantity	Item Description	S No. Item Head
					06.08.2022	Date:
					K. Narender Reddy	Prepared By
					V.Anand	Name of the Contractor
	006.	3,204,303,1006	c-201,203	,1003,1004 &	Door fixing with beeding for flats B-202,203,205,1003,1004 & C-201,20	Work Description:
					May Flower Patinum	Project:
					MPPL	Company Name:
	Approved					ESTIMATE SHEET

		2 Door Beeding Other		1 Door Fixing Door		Door fixing with beedi	S No. Item Head	T	Date: 06.08.2022	а Ву	Contractor	╀	Prorintion.	Company Name: MPPL	AEASUREMENT SHEET
		Other Door Beeding fixing		Door fixing for other door with cylindrical lock		Door fixing with beeding for flats B-202,203,205,1003,1004 & C-201,203,204,303,1006.	Item Description		.2022	K. Narender Reddy	and	Door fixing with beeding for flats B-202,203,205,1003,1004 & C-201,203,204,303,1006.	iviay r lower ratinum		
		1.00		1.00		,203,204,30	Length	Α				8,1004 & C			
		1.00		1.00		3,1006.	Width	В				-201,203,20			
		1.00		1.00			Height	С				)4,303,1006			Approved
		69.00		69.00			Nos.	<b>D</b>				٠ <u>٠</u>			
		69.00		69.00			Quantity	E=AxBxCxD							
		nos		nos			Units	Ŧ							
							Item Head Total	G=Sum of E							